do/dp’ et [pb/GeV]

Ratio to ATLAS

=

T

<
=

1072

1073

[EEY

0.5

13000 GeV pp Z+Jet
I I I | I I I | I I
= Jetp_(p, >30GeV, ly| <25, m> 40 GeV) E
L -
: | m :
N . =
L IR NG "G
— —— Pythia 8.308 default _
| — Pythia 8.308 tune-A14-CTEQL1 .
| ------ Pythia 8.308 tune-A14-MSTW2008LO _|
E Pythia 8.308 tune-A14-NNPDF2.3LO | " -
~ -+~ Pythia 8.308 tune-CUETP8S1 =
= | | | | | | | | i =
= | } t | 1 1 1 [ T |:
1 1 1 | 1 1 1 | 1 1
0 200 400

pjTet (leading jet,= 3 jet) [GeV]

Rivet 3.1.10, = 2.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


